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2.

3.

4.

Student: _____________________
Date: _____________________

Instructor: Alfredo Alvarez
Course: Algebra Foundations, Martin-
Gay, Elayn

Assignment: m032039pract

Solve the inequality. Graph the solution set and write it in interval notation.

4x − 3 ≤ 5x − 2x

Choose the graph of the solution set.

A.
-10 -8 -6 -4 -2 0 2 4 6 8 10

B.
-10 -8 -6 -4 -2 0 2 4 6 8 10

C.
-10 -8 -6 -4 -2 0 2 4 6 8 10

D.
-10 -8 -6 -4 -2 0 2 4 6 8 10

E.
-10 -8 -6 -4 -2 0 2 4 6 8 10

F.
-10 -8 -6 -4 -2 0 2 4 6 8 10

The solution to the inequality .is 4x − 3 ≤ 5x − 2x
(Type your answer in interval notation.)

For the following equation, find three ordered pair solutions 
by completing the table. Then use the ordered pairs to 
graph the equation.

y = − 3x + 6

Find three ordered pair solutions of the given equation.

x y
0

1

2

Use the graphing tool to graph the line.

-10 -8 -6 -4 -2 2 4 6 8 10

-10

-8

-6

-4

-2

2

4

6

8

10

P(x) ,If P( ).find = x + x + 52 7

P( )7 =

Find the quotient using long division.

5x2 − 4x + 5
x − 2

(Simplify your answer.)
5x2 − 4x + 5

x − 2 =
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5.

6.

7.

8.

9.

10.

Factor the following polynomial.

− 45x y − 36x y6 5 7 2

(Factor completely.)− 45x y − 36x y =6 5 7 2

Factor the trinomial completely. If the trinomial contains a greatest common factor (other than 1), factor out the GCF first.

3x − 21x + 36x3 2

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. (Factor completely.)3x − 21x + 36x3 2 =

B. The polynomial is prime.

Factor the trinomial completely.

3x − 32x − 112

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. (Factor completely.)3x − 32x − 112 =

B. The polynomial is prime.

Factor the following binomial completely.

196x − 81y2 2

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. (Factor completely.)196x − 81y2 2 =

B. The polynomial is prime.

Factor the binomial completely.

xy − 25xyz3 2

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. (Factor completely.)xy − 25xyz3 2 =

B. The polynomial is prime.

Solve the equation.

(3x − 7)(7x + 6) = 0

x =
(Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.)
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11.

12.

13.

14.

15.

16.

Solve the equation.

x − 10x + 24 = 02

x =
(Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.)

Solve.

x + 3x − 40 = 02

x =
(Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.)

Solve the equation.

16x − 25 = 02

x =
(Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.)

Solve.

3x − 2x − 8 = 02

x =
(Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.)

Simplify the expression.

2
4a − 10

Select the correct choice below and fill in any answer boxes in your choice.

A. (Simplify your answer.)
2

4a − 10 =

B. The expression cannot be simplified.

Find the product and simplify if possible.

•
x

7x − 49
x2 − 7x

2

•
x

7x − 49
x2 − 7x

2 =

(Simplify your answer. Use integers or fractions for any numbers in the expression.)
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17.

18.

19.

20.

Find the quotient and simplify.

÷
x2 + 4x + 3

x − 9
x2 − 3x − 4

x − 9

(Type your answer in factored form.)÷
x2 + 4x + 3

x − 9
x2 − 3x − 4

x − 9 =

Perform the indicated operation. Simplify if possible.

−
y2

y − 9
22y − 117

y − 9

.The difference is 

Solve the compound inequality. 

− 18 ≤ 8x − 10 ≤ 14

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. .The solution set is 
(Type your answer in interval notation. Simplify your answer. Use integers or fractions for any 
numbers in the expression.)

B. .The solution set is ∅

Solve the absolute value equation.

= 152x − 1

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. .The solution set is 
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

B. .The solution set is ∅
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21.

22.

Solve the inequality. Then graph the solution set.

< 4x + 4

Select the correct choice below and, if necessary, fill in the answer box within your choice.

A. .The solution is one or more intervals. The solution is 
(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any 
numbers in the expression.)

B. . There are only one or two solutions. The solution set is 
(Type an integer or a fraction. Use a comma to separate answers as needed.)

C. There is no solution.

Choose the correct graph below.

A.

-20 200

B.

-20 200

C.

-20 200

D.

-20 200

E.

-20 200

F.

-20 200

Solve the inequality. Graph the solution set.

≥ 8x + 3

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. .The solution is one or more intervals. The solution is 
(Type your answer in interval notation. Simplify your answer. Use integers or fractions for any 
numbers in the expression.)

B. { }.There are only one or two solutions. The solution set is 
(Use a comma to separate answers as needed.)

C. There is no solution.

Choose the correct graph below.

A.

-30 -20 -10 0 10 20 30

-11 5 B.

-30 -20 -10 0 10 20 30

-11 5

C.
-30 -20 -10 0 10 20 30

-11 5 D.

-30 -20 -10 0 10 20 30

-11 5

E.

-30 -20 -10 0 10 20 30

-11 5 F.
-30 -20 -10 0 10 20 30
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23.

24.

25.

26.

27.

28.

29.

Find the cube root.

3 − 27x15

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. (Simplify your answer.)3 − 27x15 =

B. The root is not a real number.

Simplify the radical. Assume that all variables represent positive real numbers.

16a10b18

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. 16a10b18 =

B. The square root is not a real number.

Simplify the radical. Assume that all variables represent positive real numbers.

3 − 8x12y6

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. =3 − 8x12y6

B. The radical does not represent a real number.

Use radical notation to rewrite the expression. Simplify if possible.

163 / 4

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. 163 / 4 =
(Simplify your answer. Type an exact answer, using radicals as needed.)

B. The answer is not a real number.

Simplify by factoring.

175

175 =
(Type an exact answer, using radicals as needed.)

Express in simplified form.

3 750

3 750 = • 3

Find the distance between the pair of points.

( , ) ( , )and 3 2 15 7

The exact distance is units. (Simplify your answer.)
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30.

31.

32.

33.

34.

35.

36.

Find the midpoint of the line segment whose endpoints are given.

( , ) ( , )and 8 − 8 4 2

. The midpoint of the line segment is (Type an ordered pair.)

Solve.

x − 8 = 3

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

A. The solution(s) x . is(are) =
(Use a comma to separate answers as needed.)

B. .The solution set is ∅

Subtract.

(2 + 5 i ) − (5 − 5 i )

(2 + 5 i ) − (5 − 5 i ) =
(Simplify a b .)your answer. Type your answer in the form + i

Write the quotient in the form a + bi.

1 + 9 i
1 + i

1 + 9 i
1 + i =

(Simplify a b . your answer. Type your answer in the form Use integers or fractions for any numbers in the expression.)+ i

Use the square root property to solve the equation. The equation has real number solutions.

(x + 2)2 = 4

x =
(Simplify your answer. Type an exact answer, using radicals as needed. Use a comma to separate answers as needed.)

Use the quadratic formula to solve the equation.

m − 6m + 5 = 02

m =
(Simplify your answer. Type an exact answer, using radicals as needed. Use a comma to separate answers as needed.)

Use the quadratic formula to solve the equation. The equation has real number solutions.

y5 = 2y2 − 3

y =
(Type a simplified answer, using fractions and radicals as needed. Use a comma to separate answers as needed.)
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37.

38.

39.

Use the quadratic formula to solve the equation.

x − 7x − 3 = 02

x =
(Type an exact answer, using radicals as needed. Use a comma to separate answers as needed.)

Use the quadratic formula to solve the equation.

x x 02 + 2 + 5 =

The solution(s) x .is/are =
(Simplify your answer. Type an exact answer, using radicals and as needed. Use a comma to separate answers as
needed.)

i

Sketch the graph of the quadratic function and the axis of 
symmetry. State the vertex, and give the equation for the 
axis of symmetry.

f(x) = x − 52

Use the graphing tool to graph the function as a solid curve 
and the axis of symmetry as a dashed line.

.The vertex is 
(Type an ordered pair.)

.The axis of symmetry is 
(Type an equation.)

-20 -16 -12 -8 -4 4 8 12 16 20

-20

-16

-12

-8

-4

4

8

12

16

20

x

y
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1.

D. -10 -8 -6 -4 -2 0 2 4 6 8 10

( −∞,3]

2. 6

3

0

-10 -8 -6 -4 -2 2 4 6 8 10

-10

-8

-6

-4

-2

2

4

6

8

10

3. 61

4.
5x + 6 +

17
x − 2

5. 9x y − 5y − 4x6 2 3

6. A. (Factor completely.)3x − 21x + 36x3 2 = 3x(x − 4)(x − 3)

7. A. (Factor completely.)3x − 32x − 112 = (3x + 1)(x − 11)

8. A. (Factor completely.)196x − 81y2 2 = (14x + 9y)(14x − 9y)

9. A. (Factor completely.)xy − 25xyz3 2 = xy(y + 5z)(y − 5z)

10.
, −

7
3

6
7
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11. 4,6

12. − 8,5

13.
, −

5
4

5
4

14.
− ,2

4
3

15. A. (Simplify your answer.)
2

4a − 10 =
1

2a − 5

16. x2

14

17. x + 3
x − 4

18. y − 13

19. A. .The solution set is [ − 1,3]
(Type your answer in interval notation. Simplify your answer. Use integers or fractions for any numbers in the expression.)

20. A. .The solution set is 8, − 7
(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

21. A. .The solution is one or more intervals. The solution is ( − 8,0)
(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any numbers in the expression.)

E. -20 200

22. A. .The solution is one or more intervals. The solution is ( −∞, − 11] ∪ [5,∞)
(Type your answer in interval notation. Simplify your answer. Use integers or fractions for any numbers in the expression.)

B. -30 -20 -10 0 10 20 30

-11 5
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23. A. (Simplify your answer.)3 − 27x15 = − 3x5

24. A. 16a10b18 = 4a b5 9

25. A. =3 − 8x12y6 − 2x y4 2

26. A. 163 / 4 = 8 (Simplify your answer. Type an exact answer, using radicals as needed.)

27. 5 7

28. 5

6

29. 13

30. (6, − 3)

31. A. The solution(s) x . is(are) = 17 (Use a comma to separate answers as needed.)

32. − 3 + 10 i

33. 5 + 4 i

34. 0, − 4

35. 5,1

36.
3, −

1
2

37.
,

7 − 61
2

7 + 61
2

38. − 1 + 2 i , − 1 − 2 i
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39.

-20 -16 -12 -8 -4 4 8 12 16 20

-20

-16

-12

-8

-4

4

8

12

16

20

x

y

(0, − 5)

x = 0
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